N of simulated tracks vs transverse vert position N of associated tracks (simToReco) vs transverse vert position N of simulated tracks vs z vert position

[} [%2] ]
@ o @
o = Q
c B S, 3
o ° a 10
(=] =1 (o]
k= = £
X (2] <
[S] c Q
< 8 o
= ] =

12 10?

10E
i) = = E -
= T 4/ T :
@ || A | = oF |||||
1 ; ; ; : : : T U= . foig
: || : : oosf - T HATHE T TR : |||||
0.95 ! / ! 0.9 1 1 1 0.95L i ! 1 A A
10—2 10—1 1 10 102 10—2 10—1 1 10 102 =30 -20 -10 0 10 20 30
TP vertr (cm) TP vertr (cm) TP vert z (cm)
| N of associated tracks (simToReco) vs z vert position | | N of simulated tracks vs. sim PV z | | N of associated tracks (simToReco) vs. sim PV z |
12 %] 2
o ] o
= [3} =
B S B
B o 10° B
= £ =
2] X %]
c Q o
3 I 8 10
o) [ 5 o]
04 10%E x
10
1
1 -
fe! Q9 Lurts g o [ :
3 s b LHINENTENETTE g 1 T | S
o o [ : d d |||||||| d d o F 14414
T |||:|||||: mm 09f H-- Bl HEH
0.9k ; UL TE ; i P SRR 0 A X A s X A A H NN st ; ; ; ; ;
=30 -20 -10 0 10 20 30 -20 -15-10 -5 0 5 10 15 20 =10 -5 0 5 10 15 20

TP vert z (cm) TP Sim. PV z (cm) TP Sim. PV z (cm)



	Contents
	Page 1


